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9-70. See below:

a. See graph below.

b. No, it is not; it lies on the boundary to y <x, but the boundary is not part of the solution.
9-71. b
9-72. 1.25+0.75g<20; g<19.5,s0<19 games

9-73. (=3, -6)
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9-74. 1.075; 7.5% increase; See graph and example table below.

x y
(time) | (price)
-3 8.75
-2 9.41

-1 10.11
0 10.87

1 11.69
2 12.56
3 13.50

9-75. See below:
ax=15+5
b.x=24
c.x=2.5

d.x=0or3
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9-76. ABD=CDB by SAS=. Rotate AABD by 180° and then translate. Other sequences exist, but reflection is not an option unless it is followed by
another reflection.




